
SAP ABAP table JIT_HD_OIT {Chain from Inbound Header to Outbound Components Group}

JIT_HD_OIT

OUTID [NUMC (10)]

POSID [NUMC (10)]

CNTRL [CHAR (4)]

LIFNR [CHAR (10)]

INTST [CHAR (4)]

CJIT01

MANDT [CLNT (3)]

CNTRL [CHAR (4)]
 JIT_HD_OIT-CNTRL = CJIT01-CNTRL 0..N

1

CJIT04

MANDT [CLNT (3)]

INTST [CHAR (4)] JIT_HD_OIT-INTST = CJIT04-INTST 0..N

1
JITIT

MANDT [CLNT (3)]

POSID [NUMC (10)]

 JIT_HD_OIT-POSID = JITIT-POSID 
0..N1

JITOHD

MANDT [CLNT (3)]

OUTID [NUMC (10)]

 JIT_HD_OIT-OUTID = JITOHD-OUTID 

0..N

1

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 JIT_HD_OIT-LIFNR = LFA1-LIFNR 

0..N

0..N


